PCB Hole $3.8+0.05

®3.9 MAX

10 +0.05

19 +0.05

©1.85 +0.03
PCB hole ®2.2 Self thread screw M2.0

o
0 @
=2} o
~
= ©
=
| +
~
| .
— | [l | 1
T T i
. 1 TR I
< " il 3
— LI S
©
oS
+
[sp)
2}
N
¢ 0.05[x]Y]

D100

@2 . .

0.50 +0.05

D(10 : 1)

Partial View A
Scale (10:1)

2.7

E(10:1)

Other\g/

10.90+0.15

SPECIFICATIONS:

Housing:

-Material:PC Crastin
-Colour:Black

-Hold force clips:max 85N

Shaft:

-Material:Stainless Steel
-Axialforce(stake-on):max 150N
-Axial pull force:max 70N
-Rotation Angle:Max 315°

El confaces
-Material:Copper Alloy
-Plating:Sn 5+1um
-Coil:el.resistance 280+20Q

~-£=1-@- | Dimension in mm
ProductName: \/ghicles Instrumentation Device| sheet 1/1
i A
Description: Size 3
scale 251
Production No: Created |2004.08.12 ﬂ_‘ﬂT@—) NO tolerance
- - X 0.1
Mo soosaeosame aszpsoonozo | CNECK | 2004.08.15 P X {:8_82
Release |2004.08.20 s




17.95

4.4

5
| | |
0.4
1 A | Other@s/
| 3 £ |
S S
© o & 3
= Q Y F '
< o
=90 - 0
- ®1-002 _| | |_
32 m To]
89 , S
’ | - D4 | 8 2
| ~
|
3
N
|
9 +0.05
| _1
©1.85 +0.03 Oh.50
_ PCB hple $2.2 Self thread M2.0 — -
A . _§E|o_o5 - CB hole elf thread screw | J ’
Bl -
I |
| 1 e -3 A N SO S i
| | 3 Partial View A
| | °’ Scale (10:1) .
) L = =1 :
Biis Tk i
S |
+l |
: ' - !
Uﬁ = i f\ Ot U == S | SPECIFICATIONS:
| BN <« Q | I |
i_i | i Ik - Nk 1 ‘ || | U\ ___________ i Housing:
el Lha == [ 035 035 : | N -Material:PC Crastin
<--E 7! 7.76 £0.1 L‘_"D - = 22.85 0.15 |—‘:l i -Colour:Black
-1 ! -Hold force clips:max 85N
|
|
- 27%" _ | Shaft:
I | i -Material:Stainless Steel
' [ E(10: 1) -Axialforce(stake-on):max 150N
© 0 -Axial pull force:max 70N
. -Rotation Angle:Max 315°
% . % |\ 50 20,05 El confaces
ol (2] | -50 0. -Material:Copper Alloy
oYl D <o B o D(10 - 1 -Plating:Sn 5+1um
! S (10:1) -Coil:el.resistance 280 +20Q
- - - - - - ©
! 69'} S & ~=-4-@- | Dimension in mm
% . . . .
ot 9 @ﬁ Product Name: \/ghjcles Instrumentation Device| sheet 11
e & - size A3
Description:
' scale 2.5:1
o ! ° ’ Production No: Created |2004.08.12 NO tolerance
\ - X +0.1
|$| %0 05| X | Y | $‘| % 0 05| X | Y | Mevz\g/c!c?sg%—&gc{/vmlg/%go%%opooo20 Check 20040815 .§X %8852’
' ' Release |2004.08.20 ~  i05°




3-3.10 +0.05
PCB Hole 3

6:0.05

17.95

7.79+0.15

0.30

{2.08)

19.2 +0.1

0.35
l | | l
é ©
| | =)
3 ]
~
! | [
= = i
2-®1.85 +0.03
PCB hole ¢2.2 Self thread screw M2.0
e
/A )
S
H
o)
S 8
o
e [0 o
=
— +
@
(o2}
N

¢ 005[x]Y]

@100

@2

0
-0.15

8.85

10.95 +0.15

Partial View A
Scale (10:1)

0.50 +0.05

2.8

e

D (10:1)

1.6,
OtherQ/

B (10:1)

SPECIFICATIONS:

Housing:

-Material:PC Crastin
-Colour:Black

-Hold force clips:max 85N

Shaft:

-Material:Stainless Steel
-Axialforce(stake-on):max 150N
-Axial pull force:max 70N
-Rotation Angle:Max 315°

El confaces
-Material:Copper Alloy
-Plating:Sn 5+1um
-Coil:el.resistance 280+20Q

ProductName: - \/ghjcles Instrumentation Device

Description:

~£=1@-| Dimension in mm
sheet 1/1
size A3
scale 2.5:1

Production No:

VID29-05/ VID29-05P
M6V290058000020/M6V2905PB000020

Created |2004.08.12
Check  12004.08.15
Release |2004.08.20

NO tolerance

W@ ' X +0.1
T .. X +0.05
+0.!




3-3.10 £0.05
PCB Hole ®3

\%

0-4i , Other 5/

®»1-0.02

_Ul _______________ TO

5.3min
o

10.95+0.15

>3
~
1.50

C(10:1)

2.50

2.0 22.85 +0.15 !
6 £0.05 L208) -

17.95

7.76|+0.1

0.35 [] 1

b PARTIAL VIEW A
| SCALE10:1

UUT————J e

~—
7 £0.15

~_ 0.50 +0.05

| N . — d N S— B S SPECIFICATIONS:

2-©1.85 +0.03 Housing: _
PCB hole $2.2 Self thread screw M2.0 -Material:PC Crastin
o U -Colour:Black
’ -Hold force clips:max 85N

0.30

2.8

+0.1 [Te)
27 o -

Shaft:
. 8:4910.08 | _ :‘Q_} AT -Material:Stainless Steel
o

I ' ! -Axialforce(stake-on):max 150N
! (_@}ﬁ b . -Axial pull force:max 70N

T ( |

L—F B (10: 1)

C D(10:1) -Rotation Angle:Max 315°

El confaces
-Material:Copper Alloy
-Plating:Sn 5+1um
-Coil:el.resistance 280 +20Q

10.75 £0.08

19.24 +0.08

~=-J-@- | Dimension in mm

29.25 +0.15

ProductName: \/ghjcles Instrumentation Device| sheet 1/1

size A3

Description:

scale 2.5:1

NO tolerance

Production No: Created [2004.08.12

VID29-06/VID29-06P
\_{ &0 005]X] Y] M6V/29006B8000020/M6Y2906PB000020 Check 2004.08.15 '
Release |2004.08.20 2 fome

|49 0.05]Xx]Y




| ©»1.50 00

10 +0.05

©3.90 MAX.
PCB Hole ®3.8
19 +0.05

)

19.60 +0.05

Partial View D
scale 10:1

P4 - —

5.80

6 +0.05

26.57

scale 10:1 Partial View A
scale 5&:1 SPECIFICATIONS:

] ©®1.85 +0.03
4« PCB Hole 2.2 Self thread screw ,M2.0

!

Housing:

T T -Material:PC

I J Qi -Colour:Black

-Hold force clips:max 85N

/ J—\l——\l—u /M

iy -
. Ll | !
r Pl !
/I__:,__'_, —
/

—t
|
I
|
|
|

0.30

4.4
0.30

0
3.90

4.4

7 %0.15
N
~\",:\
h N
9
|
|
|
|
|
|
|
|
|
|
J
1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

Shaft:

-Material:Stainless Steel
-Axialforce(stake-on):max. 180N
-Axial pull force:max. 90N
-Radial force:max.13N

-Rotation Angle:Max. 315°

27

o' 0 |

0.50 %% El contacts:
-— -Material:Copper Alloy
. . . . -Coil:el.resistance 280Q
Parfial View B Partial View C Undim.Radio R0.05mm~R0.10mm
scale 10:1 scale 10:1 Undim.chamfered edges 0.30mmX45°

o)! 0o

|
|
|
|
|
|
29.25 +0.15

Dimension in mm

% % Product Name:Vehicles instrumentation Device 11

i

<.

|
[&10 005[x] Y[~ ‘ © @30 Description:  Fit R TE SR A3
[]o 0.05] X[ Y] i Vol g | waeks |57 (0@ | # B e 251
NO tolerance

it b HE 1L Product No:
i . ] it ' Vb Yy |
ik i V|D29_04 Vehicles nstumertation Devic. X

XX

18 i _

0.1
0.
0
)

o

1+
+ T+

o
o




®2.50
050%% , ?1.50 002 _
] ] 7N
|
\ V) 2 B
N
2 Y
\
’ . ] AU
| |
i} | ] o
1 I =
. . ! 3
partial view B partial view C e
Scale 8:1 Scale 8:1
|
AR ! o4 | -
|
| i !
| |
| ! | &
| | 0
22.85 +0.15 | |
8 ,———C /———B (2.08) i ! T = ! SPECIFICATIONS
@ h / | 1] | e 0:35 ! ! .
r —|{' — 7 o : | [ I |
K | W R W i i m Housing:
_ | IR | 1 o L | i ; -Material:PC
J | L5 l‘:___J = Loy U = © pOSmOll V!Se.}N A -Colour:Black
! ! ]‘E ! - cale 6. -Hold force clips:max 85N
l F
e b ‘iﬁ/ ~ .
. I - - 3-3.10 £0.05
o
6 +0.05 i @2-(2) 1.85 £0.03 PCB Hole $3 Shaft:
o o | | PCB Hole ®2.2 Self thread screw M2.0 R T ———n -Material:Stainless Steel
— ! N1 -Axialforce(stake-on):max. 180N
= ~—-D | ! -Axial pull force:max. 90N
7 i ! -Radial force:max.13N
i /Ks i -Rotation Angle:Max. 315°
- -4
8 ! l
{ | !
10 © : ! El contacts:
3 S p : | ! -Material:Copper Alloy
= H L A1 -Coil:el.resistance 280Q
< o . . Undim.Radio R0.05mm~R0.10mm
> & partial view D Undim.chamfered edges 0.30mmX45°
- Scale 10:1
/— . . .
3 Dimension in mm
Product Name:Vehicles instrumentation Device N
i /1
T ), X A3
Description:  Fit R TE A%
\ Wil [ | ElRs (%% |Am | MK g 251
m — va . NO tolerance
1 Wit 15 b Product No:
[]e 005X [¥]— s’ _— W VD ) (sl
$| @ 005| x | Y | —:: — V|D29_07 Vehicles Instrum entation Device. ‘L\‘ , ii'JJHL;J
12 it HE o




	VID－29 all.pdf
	VID29-02(P)成品规范(对外).pdf
	VID29-03(P)成品规范(对外).pdf
	VID29-05(P)成品规范(对外).pdf
	VID29-06(P)成品规范(对外).pdf

	VID29-04 drawing.pdf
	VID29-07 Drawing.pdf

